
Test 2 

1) 60 ÷ (24 - 18) =  

 

 

 

2) 10% of 2000  

 

 

 

3) 7 - 1.9 = 

 

 

 

4) 888 ÷ 37 

 

 

 

 

 

5) 56.37 + 25.4 =  

 

 

 

 

6) Circle the Prime Numbers 

17      18      23      37    42 

 

 

7) Round 4.26 to the nearest tenth. 

 

 

 

 

 

 

 

 



8) What are the common factors of 12 and 48? 

 

 

 

 

 

 

 

9) In this sequence, the rule is x 2, then add 3. 

What are the missing numbers? 

______      25    53    ________ 

 

 

 

 

10) Round 6.87 to one decimal place. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 


